1. A Ferris wheel has a radius of 12m and makes one complete revolution every 12
seconds. The bottom of the wheel is 2m above the ground. Jf & person oere oI

atthe boﬂomme following: - m
a) Amplitude: = \3,,\ b) Pe:riod: o) k- :& =a) d)D: = \l-| ™
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e) Maximum Height= % f) Minimum Height: = am

£) Equation: {’MS_\-\-H

h) Sketch the graph for two revolutions (periods):
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i) How high is the person at these times?

i) 12 seconds <= BN\

ii) 5 minutes = ‘a-W\
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3. Awater wheel has a radius of 10m. 3m of the wheel is submerged under water.
If the wheel makes one revolution in 360 degrees and thebucket starts at the
center and goes up, find:
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4. Awaterwheel is defined bvthe equation v=7 CDS[] 8(3:}] +4
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